Ideal Solutions – Assignment 3

1a.

constraint-checking.beh

<       new Visitor[] { iV, sV, cV });

---

>       new Visitor[] { cV, iV, sV });

statistics.beh

<     if (result2 == 2) {

---

>     if (result2 == 0) {

b.

Not all Integer’s can be changed to int since certain methods return Object and Integer is an object that may be returned but not int.

2.

Changes for both files:

averageV.beh

<
public Object getReturnValue() {

return aV.get_cV().getReturnValue();

}

---

>
public Object getReturnValue() {

return aV.getReturnValue();

}

statistics.beh

<
TraversalGraph allWeights = new TraversalGraph("from Container to Capacity",cg);

---

>
TraversalGraph allWeights = new TraversalGraph("from Container to Weight",cg);

3.

Main = <cm> ChineseFoodMenu.

ChineseFoodMenu = "Food" "Menu:" List(ChineseMeal).

ChineseMeal = "Meal" <mealId>int ":"

              "<Dishes:>" <dishes>CommaList(MenuItem)

              "<Soup:>"<soup>CommaList(MenuItem)

              ["<Dessert:>" <dessert>CommaList(MenuItem)].

CommaList(S) ~ S {"," S}.

MenuItem = List(Ident).

List(T) ~ T {T}.

